
40 kwartier      =       ........................................................................................................     uur

3 jaar      =       ........................................................................................................     maanden

900 seconde      =       ........................................................................................................     kwartier

30 minuten      =       ........................................................................................................     kwartier

2 weken      =       ........................................................................................................     dagen

1500 minuten      =       ........................................................................................................     kwartier

5200 weken      =       ........................................................................................................     jaar

10 jaar      =       ........................................................................................................     dagen

100 maanden      =       ........................................................................................................     weken

4 uur      =       ........................................................................................................     seconde

520 weken      =       ........................................................................................................     jaar

900 seconde      =       ........................................................................................................     kwartier

1 week      =       ........................................................................................................     uur

8 maanden      =       ........................................................................................................     weken

4 kwartier      =       ........................................................................................................     uur



40 kwartier = (40 : 4) uur  =  10 uur

3 jaar = (3 x 12) maanden  =  36 maanden

900 seconde = (900 : 60) minuten = 15 minuten  =  1 kwartier

30 minuten = (30 : 15) kwartier  =  2 kwartier

2 weken = (2 x 7) dagen  =  14 dagen

1500 minuten = (1500 : 15) kwartier  =  100 kwartier

5200 weken = (5200 : 52) jaar  =  100 jaar

10 jaar = (10 x 365) dagen  =  3650 dagen

100 maanden = (100 x 4) weken  =  400 weken

4 uur = (4 x 60) minuten = 240 minuten = (240 x 60) seconde  =  14400 seconde

520 weken = (520 : 52) jaar  =  10 jaar

900 seconde = (900 : 60) minuten = 15 minuten  =  1 kwartier

1 week = 7 dagen = (7 x 24) uur  =  168 uur

8 maanden = (8 x 4) weken  =  32 weken

4 kwartier  =  1 uur


